
ITEM COMM. CODE U/M DESCRIPTION QTY ORDERED Selling Price PICTURES TOTAL

1 7656101118 EA

201101746                                                                    

12 FT. SNOWPLOW COMPLETE With M/W 

Pushframe

$5,789.00 NONE $0.00

2 7656101123 EA

201101694                                                                             

14 FT. SNOWPLOW COMPLETE With M/W 

Pushframe 

$6,479.00 NONE $0.00

3 EA

21101118                                                                        

14 FT. SNOWPLOW COMPLETE With M/W 

Pushframe and BOLT ON replaceable base angle

$7,030.00 $0.00

4 7656101315 EA

SP-2

21100055   

8 FT. HORIZONTAL PIVOT ASSY. 

(FOR 11 & 12 FT PLOWS)

$1,134.41 $0.00

5 7656101320 EA

SP-2

21100076

9FT. HORIZONTAL PIVOT ASSY. 

(FOR 14FT. PLOWS)

$1,298.00 $0.00

6 7656101350 EA

SP-2-E

21100009

SPRING MOUNTING BRACKET

$30.00 $0.00

7 7656101360 EA

SP-2-F1

21100024

FRONT RAM BRACKET ANGLE

WITH INSERTS LEFT (4"X4")

$32.00 $0.00

8 7656101361 EA

SP-2-F2

21100025

FRONT RAM BRACKET ANGLE

WITH INSERTS RIGHT (4"X4")

$33.00 $0.00

9 7656101380 EA

SP-2-K

21100031

SPRING PIVOT & SEAT

$41.00 $0.00

10 7656101385 EA

SP-2-L

21100030

SPRING CAP

$32.00 $0.00

11 7656101377 EA

SP-2-LL

21100071

BOTTOM PLATE FOR DOUBLE SPRING 

WELDMENT (for 14' Plow)

$67.00 $0.00

2014-2015 Plows & Plow Parts Pricing

CONTRACT # 3-110615RJ

Submit to the District Procurement Office

Building (Org.Code):  ___________________
Submit an individual form for each org. that has needs for these items.



12 7656101400 EA

SP-2-M

20580030

COMPRESSION SPRING

$49.00 $0.00

13 7656101410 EA

SP-2-O

21100036

CLEVIS

$32.00 $0.00

14 7656101420 EA

SP-2-Q

21100017

PIVOT PIN

$10.00 $0.00

15 7656101430 EA

SP-2-XX

21100072

DOUBLE SPRING ASSY.

(FOR 14FT. PLOW)

$350.00 $0.00

16 7656101440 EA

SP-3

21100056

PUSHER FRAME A-STYLE (27 DEGREE)

$885.00 $0.00

17 7656101520 EA

SP-3-S

21100082 

PUSHER FRAME V-STYLE (35 DEGREE)

$1,025.00 $0.00

18 7656101470 EA

SP-3-C1

21100043

REAR RAM BRACKET ANGLE 

INSERTS RIGHT (3"X4")

$26.00 $0.00

19 7656101475 EA

SP-3-C2

21100044 

REAR RAM BRACKET ANGLE 

INSERTS LEFT

$27.00 $0.00

20 7656101505 EA

SP-3-J & 6-J

21100020 

RAM MOUNT PIN

$11.00 $0.00

21 7656101510 EA

SP-3-K

21100039

FOUR WAY PIVOT LINK

$45.00 $0.00

22 7656101525 EA

SP-4

21100035

VERTICAL PIVOT BAR ASSY. COMPLETE

$333.00 $0.00

23 7656101555 EA

SP-5

21100061

PLOW HANGER

$48.00 $0.00

24 7656101605 EA

SP-6-C4

21100096

LIFT ARM PIN

$14.00 $0.00



25 7656101610 EA

SP-6-D

21100097

HOLDING BRACKET

$5.00 $0.00

26 7656101615 EA

SP-6-E

21100098

HANGER BRACKET

$15.00 $0.00

27 7656101620 EA

SP-6-F

21100099

LIFT ARM BRACKET

$18.00 $0.00

28 7656101625 EA

SP-6-G

21100100

RAM MOUNTING BRACKET

$6.00 $0.00

29 7656101630 EA

SP-6-H

41303566

HANGER PIN 1 1/2 X 5

$20.00 $0.00

30 7656101645 EA

SP-6-L

21100114

TELESCOPIC LIFT ARM ASSY.

$195.00 $0.00

31 7656101415 EA
HW42B-1024

5/8'' X 3'' HEX BOLT; SPRING CLEVIS
$1.25 $0.00

32 7656101045 EA
HW30E-10                                                                   

5/8'' NUT
$0.80 $0.00

33 7656101405 EA
HW40A-1296                                                              

3/4'' X 12'' HEX BOLT; SPRING
$11.00 $0.00

34 7656101040 EA HW30E-12  3/4'' NUT, TOPLOCK $0.85 $0.00

35 7656101005 EA
HW40A-1632

1' X 4'' HEX BOLT; MOLDBOARD CARRIER
$6.00 $0.00

36 7656101050 EA HW30E-16 1" NUT $2.00 $0.00

37 7656101010
EA HW40A-1640

1'' X 5'' BOLT; PLOW HANGER
$7.50 $0.00

38 EA
20903035                                                                   

NEW HANGER PIN 
$18.00 $0.00

39 7656101015 EA
HW40A-1648

1'' X 6'' BOLT; LIFT ARM ASSEMBLY
$8.00 $0.00

40 7656101050 EA
HW30E-16                                                                      

1" NUT
$1.75 $0.00

41 7656101020 EA
HW40A-1664

1" X 8'' BOLT
$15.00 $0.00

42 7656101050 EA
HW30E-16                                                                       

1" NUT
$3.00 $0.00

43 7656101025
EA

HW40A-2456

1 1/2'' X 7'' BOLT; VERTICAL PIVOT ASSEMBLY
$29.00 $0.00

44 7656101055 EA
HW30E-24                                                                       

1 1/2" NUT
$7.50 $0.00



45 7656101735 EA

3SK4029

2 1/2'' X 10" PLOW PIVOT CYLINDER $165.00 $0.00

46 7656101740 EA
280151

3'' X 10" SA PLOW LIFT CYLINDER
$265.00 $0.00

47 7656101733 EA

280153

2-WAY PLOW PIVOT CYLINDER (For VIKING PLOW 

M/W PUSH FRAME) - 3 X 9.25 DA

$196.00 $0.00

48 EA
21101614                                               

COMPRESSION ARM ASSY             
$270.00 $0.00

49 EA
20900162                                                                       

PIN 1.00 DIA X 3.00 WELDT
$9.00 $0.00

50 EA
21100060                                                              

RUBBER DEFLECTOR PLATE 12 FT MODOT
$41.00 $0.00

51 EA
280573C                                                               

RUBBER DEFLECTOR 12 FT MODODT
$99.00 $0.00

52 EA
00900135                                                                      

PIN 1.00 DIA X 4.00 WELDT
$10.50 $0.00

53 EA
HW40A-2448                                                                  

BOLT 1 1/2 X 6 GR 8                            
$25.00 $0.00

54 EA
HW30E- 24                                                               

TOPLOCK NUT 1 1/2"
$10.00 $0.00

55 EA
HW30C-24                                                                     

NUT HEX SLOTTED 1 1/2" UNC ZINC
$10.00 $0.00

56 EA
3SK3400                                                                         

PIN 1.000 X 3.500
$7.00 $0.00

57 EA
20304074                                                                

DROP BAR RETAINING/CONNECTING LUG
$35.00 $0.00

58 EA
401010                                                                    

GUSSET 90C 3.00X2.50 0.50X0.50 0.50T
$5.00 $0.00

59 EA
20903036                                                                      

PIN 1.00 DIA X 3.188 UH MODOT HITCH
$16.00 $0.00



60 EA
41303567                                                                      

PIN 1.00 DIA X 4.875 L
$15.00 $0.00


